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QUESTION 1

-- Exhibit ? 

-- Exhibit -

You have been asked to establish reachability between Router 1\\'s and Router 2\\'s loopback addresses as 

shown in the exhibit. 

Which two steps will accomplish this task? (Choose two.) 

A. Create a static route on Router 1 to 172.17.28.1 with a next hop of 10.10.10.2. 

B. Create a static route on Router 1 to 172.17.28.1 with a next hop of 10.10.10.1. 

C. Create a static route on Router 2 to 172.17.25.1 with a next hop of 10.10.10.1. 

D. Create a static route on Router 1 to 172.17.25.1 with a next hop of 10.10.10.2. 

Correct Answer: AC 

 

QUESTION 2

Which command do you use to show active alarms? 

A. show hardware state 

B. show system alarms 

C. show chassis state 

D. show services alarms 
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Correct Answer: B 

 

QUESTION 3

In dotted decimal notation, what is the equivalent of 11010101 01000010 01111111 11000010? 

A. 213.66.127.194 

B. 214.66.128.195 

C. 212.64.143.194 

D. 213.66.111.194 

Correct Answer: A 

 

QUESTION 4

After issuing the show interfaces terse command, you notice that the status of one interface is "up down". What does
this indicate? 

A. Layer 1 on the interface is up but Layer 2 is down. 

B. Layer 2 on the interface is up but Layer 3 has not been configured. 

C. The interface is administratively up but the link status is down. 

D. The interface is up but has been administratively turned off. 

Correct Answer: C 

 

QUESTION 5

Which mode is used to allow only a single person to edit a configuration? 

A. configure batch 

B. configure private 

C. configure exclusive 

D. configure dynamic 

Correct Answer: C 
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